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S. No Topics No. of Questions 

1.  Information And Communication 
Technology 

4 

2.  Statistics 3 

3.  Probability  1 

4.  Logical reasoning 2 

5.  Simple Interest 2 

6.  Ratio & proportion 2 

7.  LCM  
HCF 

1 
1 

8.  Volume 1 

9.  Number system 1 

10.  Simplification  2 
 Total 20 
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Information and Communication Technology 
 

1. A Company can be called as E-business if,  
a. It has many branches across the world  
b. It conducts business electronically over the Internet 
c. It sells commodities to a foreign country 
d. It has many employees. 
e. Answer not known 
xU epWtdj;ij kpd; - tzpfk; vd;W vg;NghJ $wyhk;?  
a. cyfk; KOtJk; gy fpisfs; nfhz;bUe;jhy;  
b. ,izak; %yk; kpd;dZ Kiwapy; tzpfk; eilngw;why;  
c. may; ehl;bw;Fg; nghUl;fis tpw;gid nra;jhy;  
d. gy Copah;fis ngw;wpUe;jhy;  
e. tpil njhpatpy;iy.  

 
2. In open office writer, the Find and Replace option is available in which 

menu?  
a. File b. Edit c. Format  d. Tools e. Answer not known 
Find and Replace mk;rk; open office writer y; ve;j gl;bg;gl;ilapy; 
cs;sJ?  
a. File b. Edit c. Format  d. Tools e.  tpil njhpatpy;iy  
 

3. IPV4, IPV6 are addresses used to identify computers on the Internet. Find 
the correct statement out of the following : 
a. Number of bits required for IPV4 address is more than number of bits 

required for IPV6 address 
b. Number of bits required for IPV4 address is equal (same) as number of 

bits required for IPV6 address 
c. Number of bits required for IPV4 address is less than number of bits 

required for IPV6 address 
d. Number of bits required for IPV4 address is 64 
e. Answer not known 

IPV4, IPV6 Mfpait xU tiyaikg;gpy; fzpdpf;F toq;fg;gLk; Kfthp 
fPo;f;fz;ltw;wpy; vJ rhpahd $w;W.  
a. IPV4 Kfthp Kiwapy; gad;gLj;jg;gLk; gpl;]; (bits) IPV6 Kfthpiatpl 

mjpfkhd gpl;]; (bits) Njitg;gLfpwwJ.  
b. IPV4 Kfthp Kiwapy; Njitg;gLk; gpl;]; (bits) IPV6 Kfthpf;F 

Njitg;gLk; gpl;;]; (bits) cld; rkkhdJ.  
c. IPV4 Kfthp Kiwapy; gad;gLj;jg;gLk; gpl;]; (bits) IPV6 Kfthpf;F 

Njitg;gLk; gpl;]; (bits) f;F Fiwthdjhf ,Uf;Fk;.  
d. IPV4 Kfthpf;F gad;gLk; gpl;]; (bits) vz;zpf;if 64  
e. tpil njhpatpy;iy. 
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4. Identify the IP address from the following?  

a. 300 – 215-317-30  b. 302-215@417-5 
c. 202.50.20.148   d. 202-50-20-148 
e. Answer not known  
IP Kthpfis Fwpf;f gpd;tUk; ve;j FwpKiw gad;gLj;jg;gLfpwJ?  
a. 300 – 215-317-30  b. 302-215@417-5   c. 202.50.20.148   

d. 202-50-20-148  e. tpil njhpatpy;iy 
 

Statistics 
5. A collection of data sets that are large and complex is difficult to store is 

a. Variable   b. Big Data   c. Scale 
d. Actuarial Science   e. Answer not known 
kpfTk; mjpf vz;zpf;ifahy; Md juT cWg;Gfisf; nfhz;lJk; 
rpf;fyhdJkhd juT mikg;Gfs; __________ vdg;gLk;.  
a. khwp   b. ngUk; juTfs;   c. mstPL  
d. epGzj;Jt mstPl;L mwptpay;   e. tpl njhpatpy;iy  

 
6. ________ can be determined using graphs, but not using diagrams.  

a. Mean  b. Bar  c. Line d. Median e. Answer not known 
tiuglq;fs; %yk; __________ msit rhpahff; fzf;fpl ,aYk;> 
tpsf;fg;glq;fs; %yk; ,ayhJ.  
a. ruhrhp    b. gl;il    c. NfhL  
d. ,ilepiy msT  e. tpil njhpatpy;iy  
 

7. Student 't' distribution was found by 
 a. Karl Pearson   b. Laplace   c. R.A. Fisher  
d. William S. Gosset   e. Answer not known 
];^ld;l; 't' gutiy cUthf;fpath;  
a. fhh;y; gpah;rd;   b. yhg;yh];  c. Mh;.V.gp~h;  
d. tpy;ypak; v];. fh]l;  e. tpil njhpatpy;iy  

  
Probability 
 

8. Large sample test is applicable when the parent population is 
a. Normal distribution only 
b. Poisson distribution 
c. Binomial distribution  
d. Any Probability distribution  
e. Answer not known 
ngUq;$W Nrhjid> vg;NghJ nghUj;jkhdjhf ,Uf;Fk; vdpy;> mjd; 
KOikj; njhFjpapd; guty;  
a. ,ay;epiyg; gutyhf ,Ue;jhy; kl;Lk;  
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b. gha;rhd; gutyhf ,Ue;jhy;  
c. <UWg;G gutyhf ,Ue;jhy;  
d. ve;j gutyhf ,Ue;jhYk;  
e. tpil njhpatpy;iy  

  
Logical Reasoning 

9. How many dots lie opposite 2 dots?  

    
a. 1   b. 5  c. 6   d. 3   e. Answer not known 
,uz;L Gs;spfs; cs;s Kfj;jpw;F vjpNu cs;s Kfj;jpy; vj;jid 
Gs;spfs; cs;sd?  

 
a. 1   b. 5  c. 6   d. 3   e. tpil njhpatpy;iy  
 

10.  Find the odd man out, of the series : 8, 27, 64, 100, 125, 216, ........... 
a. 64 b. 100  c. 27  d. 216 e. Answer not known  
nfhLf;fg;gl;l njhlhpy; nghUe;jhj vz;iz fhz;f:  
8, 27, 64, 100, 125, 216, ...........  
a. 64 b. 100  c. 27  d. 216 e. tpil njhpatpy;iy  

 
Simple Interest 

 
11.  A certain sum of money amounts to Rs. 8,880 in 6 years and Rs. 7,920 in 4 

years respectively, then the principal amount is 
a. Rs- 6,000  b. Rs. 6,100   c. Rs. 5,100 
d. Rs. 5,000  e. Answer not known 
xU Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; &. 8>880 MfTk; 4 Mz;Lfspy; & 
7>920 MfTk; khWk; vd;why; mryhdJ __________ MFk;.  
a. &. 6>000  b. & 6>100    c. &. 5>100  
d. &. 5>000  e. tpil njhpatpy;iy.  
 

12.  If Re. 1 becomes Rs. 9 in 60 years at a simple interest, then the rate % per 
annum is  

a. 15%  b. 13 
1

3
%  c. 12% d. 18%  e. Answer not known  

jdptl;bapd; fPo; 60 Mz;Lfspy; 1 &gha;> 9 &ghahf khWfpwJ vdpy;> 
Mz;L tl;b tPjk; % ahJ?  
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a. 15%  b. 13 
1

3
%  c. 12% d. 18%  e. tpil njhpatpy;iy  

 
Ratio & Proportion 
 

13. If Rs. 510 be divided among A, B, C in such a way that A gets 
2

3
 of what B 

gets and B gets 
1

4
 of what C gets, then their shares are respectively  

a. 40 : 110 : 360   b. 60 : 90 : 360  c. 90 : 360 : 90   . 
d. 50: 120:360   e. Answer not known 
& 510 MdJ A, B kw;Wk; C f;F gfph;e;J mspf;fg;gLfpwJ. A vd;gth; 

,jpy; B ngWk; njhifapy; 
2

3
 ngWfpwhh;. B vd;gth; ,jpy; C ngWk; 

njhifapy; 
1

4
 ngWfpwhh; vdpy; mth;fspd; gq;fPl;Lj; njhiffs;  

a. 40 : 110 : 360   b. 60 : 90 : 360  c. 90 : 360 : 90   . 
d. 50: 120:360   e. tpil njhpatpy;iy  
 

14.  If ratio of three numbers is 10 : 15 : 24 and their sum is 196 find the smallest 
number? 
a. 40  b. 24  c. 36  d. 49  e. Answer not known  
%d;W vz;fspd; tpfpjk; 10 : 15 : 24 kw;Wk; mjd; $l;Lj; njhif 196 
vdpy; me;j vz;zpy; rpwpa vz;iz fz;Lgpb.  
a. 40  b. 24  c. 36  d. 49  e.  tpil njhpatpy;iy 

 
LCM & HCF 

15.  Find the HCF is 
1 1 2 3

, , ,
2 3 3 4

 and 
4

5
 

a. 1 b. 12   c. 
4

5
  d. 

1

60
  e. Answer not known  

1 1 2 3
, , ,

2 3 3 4
 kw;Wk; 

4

5
apd; kP.ngh.t. it fz;Lgpb.  

a. 1 b. 12   c. 
4

5
  d. 

1

60
  e.  tpil njhpatpy;iy  

 

16.  Find the LCM of 
2 3 4

, ,
3 5 7

 and 
9

13
 

a. 
1

36
  b. 

1

1365
 c. 

12

455
 d. 36  e. Answer not known  

2 3 4
, ,

3 5 7
 kw;Wk; 

9

13
 d; kP.ngh.k. itf; fz;Lgpb.  

a. 
1

36
  b. 

1

1365
 c. 

12

455
 d. 36  e.  tpil njhpatpy;iy  
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Simplification 
 

17.  The value of 
1 1 1 1

1 1 1 ... 1
2 3 4 100

     
        

     
 is  

a. 
1

20
  b. 

1

10
  c. 

1

50
  d. 

1

100
 e. Answer not known 

 
1 1 1 1

1 1 1 ... 1
2 3 4 100

     
        

     
 d; kjpg;G  

a. 
1

20
  b. 

1

10
  c. 

1

50
  d. 

1

100
 e. tpil njhpatpy;iy  

 
 

18. Simplify : 
2 2(679 458) (679 458)

679 458

  


 

a. 1 b. 2  c. 3  d. 4  d. Answer not known  

RUf;Ff: 
2 2(679 458) (679 458)

679 458

  


 

a. 
1

20
  b. 

1

10
  c. 

1

50
  d. 

1

100
 e.  tpil njhpatpy;iy  

 
Number system 

19.  Which of the following is not true? 
i. Every rational number is a real number 
ii. Every integer is a rational number . 
iii. Every real number is an irrational number – 
iv. Every natural number is a whole number 
a. (iv) alone  b. (i)and(ii)  c. (iii) and (iv)   
d. (iii) alone  e. Answer not known 
gpd;tUtdtw;Ws; vJ cz;ikay;y?  
i. xt;nthU tpfpjKW vz;Zk; nka;naz;  
ii. xt;nthU KOf;fSk; tpfpjKW vz;  
iii. xt;nthU nka;naz;Zk; tpfpjKwh vz;  
iv. xt;nthU ,ay; vd;Dk; xU KO vz;  
a. iv kl;;Lk;   b. i kw;Wk; ii  c. iii kw;Wk; iv  
d. iii kl;Lk;   e. tpil njhpatpy;iy  

 
Volume 
 

20.  The volume of the cylinder of height 'h' and base radius 'r' is  

a. 2r h    b. 21

2
r h   c. 24 r  d. 22

3
r  e. Answer not known  
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'h' vd;w cauj;ijAk; 'r' vd;w mbj;js Muj;ijAk; nfhz;l cUisapd; 
fd msT  

a. 2r h    b. 21

2
r h   c. 24 r  d. 22

3
r  e.  tpil njhpatpy;iy  

 
 


